Name Date

Understanding Place Value Subtraction

Circle the correct answer.

1. By how much would the value of 5,954 be decreased if the 9 was replaced by a 4?

a.b b. 50 c. 500 d. 5,000

N

. By how much would the value of 3,736 be decreased if the 3 was replaced by a 1?

a2 b. 20 c. 200 d. 2,000

w

. By how much would the value of 1,482 be decreased if the 8 was replaced by a 0?

a8 b. 80 c. 800 d. 8,000

4. By how much would the value of 7,829 be decreased if the 9 was replaced by a 4?

a.b b. 50 c. 500 d. 5,000

(&)

. By how much would the value of 2,999 be decreased if the 2 was replaced by a 9?

a. /7 b. 70 c. 700 d. 7,000
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Name Date

Understanding Place Value Subtraction
Answer Key

Circle the correct answer.

1. By how much would the value of 5,954 be decreased if the 9 was replaced by a 4?

a.b b. 50 d. 5,000

2. By how much would the value of 3,736 be decreased if the 3 was replaced by a 1?

a2 b. 20 d. 2,000

3. By how much would the value of 1,482 be decreased if the 8 was replaced by a 0?

a8 b. 80 d. 8,000

4. By how much would the value of 7,829 be decreased if the 9 was replaced by a 4?

b. 50 c. 500 d. 5,000

5. By how much would the value of 2,999 be decreased if the 2 was replaced by a 9?

a. /7 b. 70 c. 700 d. 7,000
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